Multiply Decimals by 10, 100, 1,000

73.6 x 10 = 0.32 x 10 =
/3.6 x 100 = 0.67 x 10 =
/3.6 x 1000 = 0.91 x 100 =
0.6 x 10 = 0.74 x 100 =
0.06 x 10 = 4.1 x 1000 =
0.006 x 10 = /7.6 x 1000 =
0.3 x 10 = 0.01 x 1000 =
0.3 x 100 = 0.07 x 1000 =
0.3 x 1000 = 0.072 x 100 =
0.02 x 10 = 0.802 x 10 =
0.02 x 100 = 0.019 x 1000 =

0.02 x 1000 = /7.412 x 1000 =
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Multiply Decimals by 10, 100, 1,000

/73.6 x 10 = 736 0.32x 10 = 3.2
/3.6 x 100 = 7,360 0.67 x 10 = 6.7

73.6 x 1000 = 73,600 0.91 x 100 =91

0.6 x10 =6 0.74 x 100 = 74
0.06 x 10 = 0.6 4.1 x 1000 = 4,100
0.006 x 10 = 0.06 7.6 x 1000 = 7,600
0.3x10 =3 0.01 x 1000 = 10
0.3 x 100 = 30 0.07 x 1000 = 70
0.3 x 1000 =300 0.072 x 100 = 7.2
0.02 x 10 = 0.2 0.802 x 10 = 8.02
0.02 x 100 = 2 0.019 x 1000 = 19

0.02 x 1000 = 20 /7.412 x 1000 = 7,412
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